normalized X?

< x2/ndf >

< x2/ ndf >

Ratio

Ratio

<op fp_> (%)

| normalized x? probability

0.25

[ SRR PP e i | o | RERERRRERE

o+R
T
@
-
6 8 10 12 14 16 18 20 099901 0.2 0.3 0.4 0.5 0.6 0.7 0.8 09 1
X Prob(x?)
mmmm= DQM_mkFit_TT_baseR3_noSel_ok
e DQM_mkFit_TT_base_8iter_noSel_ok
wmm—= DQM_mkFit_TT_Retrainv2_8iter_noSel_ok
3 = 5
[ ] E
[ A o
3 - 4
251 S
- F
[ o~ 3f-
[ 2 E
[ o E
2L of-
1.5F N
[ of--
I :
: _1__. ......................
o o o mafrmiboind b
: ! : T
1 ; ! : o
L X -
: i :
37 -1 T 2 3 =
n
3r - A .
[ - 2 18f-
25 -eeene eeeeeans e %< 1.6F-
N : 5 i
[ 1.4F-
- 12F
-
0.8F-
0.6F
0.4F
0.2F
o O
T
@
0.5F
101 1 1l0 1(l)2 0 10° 1072 1071
&T AR(track, jet?



	Contents
	Page 1


